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QUIZ 34

A study that fed beef to rabbits found “beyond any chance of controversy” that
animal proteins causes arteriosclerosis in humans. What’s the problem?

Alan Dershowitz (O.J. Simpson’s lawyer):
“Only a tenth of one percent of men who batter their wives
actually go on to murder them.” What’s the problem?

According to Time, the five-year survival rate of a 72-year-old,
white, American male was 73%. The implication: there was a
27% chance that Dole would die before the completion of his
term. So maybe he’s too old for the job. What’s the problem?

Donald Rumsfeld is terrible in many ways, but he also had some
good quotations. | quoted one. What does it mean in the context
of research?




Writing an introduction. According to Hopkins (2008), what’s one thing an
introduction should accomplish?

“Every year since 1950, the number of American Children gunned down has
doubled.” What’s the problem?

“In the United States, the annual economic burden of low back pain is nearly
$100 billion.” What’s the problem?



